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10.

T TIFH T4 & GO 918, ATT TH TAET0T gieaeht sl ugdrer Java W @ foh 39 g e s,

HT AT T AT 63 HYATAT T, A1 T 7 | e | g, A 38 v wheron giedent @ wge7 |

FUQ O W& R OMR IW-09& |, 3Fra T WX A A7aR 31 g etor gt A9 A, B, C A1 D

W R A e e et o fanfa & s o geag w0 f el sufigar & 2 | e

oft weR Fit ek /Fermmfa i ferfa # swoaas e o ey smom |

7| viieor gfegent W @y § U TT Fres § et o

agmiﬁ%@m%lqﬁmgﬁﬁwmsmw#%él

39 Flgor gient § 80 YW () G mu # | yEE g T it shht 31 ° vW R | v

T # 97 YR (IW) fu 1w E | 3 A T Jogw B g o, O e Iqows W SR wen = med

F 1 3fE v En A 6 0 F ifus Toger W ¥, @ 39 Toge A AfRd R A AT FarW b |

Tl I % U Saer g 57 Ieel AT R |

TR T T TR - @ fou T ITw W F Afhd w0 E | STewss 3 o e e g

@3 I o 3 §HE R |

TR e T o wdem gfeqest % fafim TAm % S SO | AR FA IE B, AR 69

AT % T I IS % AR TS faaw IS H A # |

MY AT Tt TER Y IH-TTH H WA o I1g qYT T & TUIR W FTe7 JV-97F N ht 99

2 | SR HYA HY gl gieas @ I R gt # |

%= H % foTT T3, Thewr gt & 37d § TaH ¢ |

Ted 3w & feru @

Ifigan grt fRu e e s % forg g faan o |

() wetsh T % oY 9n Jfous s § | Iefican grn yeis w9 & fore feu e ueh et 3w % fow ye }g
frera fopu T 3t 1 wen-faETE <8 % ®T H T QO |

Gi) afe ®E 3nficar tF A Jfiw I LA B, A W AT IW AT e, Fefy e e I § | v S aa
B 2, T ot 38 wea & fore suwhigan @, sdt e 1 €s fea wmam |

(ii) Ife IRficar gra s WA & TEI TR wmar R, 3veiq seficar gro S T fen S 2, @ 36w & fow
1S g2 T T e |

T 7 HTIHT Tg G GITAhT Giei? &t 7 HgT S0 ad e 7 @ied

Note : English version of the instructions is printed on the back cover of this Booklet.
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feferfae 4 =m) s & fore frder

12 12T 71T 3t uRedat @ ufzy ok wReoe % A9 o |

1A FHIT % TR LAY | 59 94730 % 70 3779% I 907
7 YR T MERE €17 =Ry |
fewE - 1
IR STeaish T AT 3 o1 B S gt

AT % HE 7 I A R, g Seas
F % foe 5e T & v e g ¥ S
THh AU TFferh FETeAT ot Fk ¥ | Saren % R,
qeadt Tt A T F R R F @y §
I A B TS A T ST 2, e
T el w1 aftad? wre awt & R dart w0 6
ST & | Fearerft &t i 1ol sy st 8,
SR TR S 3R 31e 4t 36 wfr st o gem
itk 1 H 7 & % A a2 gEm svee # |
fafv=r afceat w wfsr & fore o1 ok waw @ez
Forsrftr et 2 foram fope o o st 2

1. fefafes & & $ar o [, W e ¥
SATAETIF T4l hi Fatad &0 W gfafsifaa Fwar 2 2
(a) SIEETY TREdT F VIS FE F R
FAFOT FA SR FEeR FE-Afa
AEET HeR ® ¥ ySE ST oH
SuERE R |

(b)  WRE 3T fafpadrt 2, o ok g sremmg
IiEdT FOEE/SEY F % fou @
TR ST AT i Frite
HSAR

(c) SICTaTy hrd AISHTY FAtfad FET 3N g
N[ I GRTRET FHT g 3 T
AR R |

(d) R % foTT T20/8 T T SFeramy i
foe =rfeor ot s #

shrd-Aiferat wferaried s i sravEaT e |

T it & gt A, Prafrfiaa qefemomd s s

%, |

L =ha St Seame i, Seraryg it =g
N 7R FE-AfE % wrer g dEted
[ERISIR:C TS

II. S giEdd & ST qeadt il gafdfter &t
T e it i |

ST TS # & et du 2 0

(a) FAAI

(b) FEAII

(c) L3RI Nt

(d TIAIAARI

gitetse - 2

Ife amifr srguar wnE # dEaT w7 9
HEHH T TS HIHTE T ¥, o v, wi a off

ST, fteraw w7 & weeE o TS il e

ST AIrEhr T Y % i ¥, 3 s afiieE 3
#ft, S Tt T % A IR o uEw &
@I SivsrE @rer Sifad, awm § geag,
TSRt srfAfiaadrett & wwon fafmr sy
ST § fr ¥ | 3w At w5 as
AT H 5 STGREATHY T <A 2 |
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Directions for the following 4 (four) items :
Read the following two passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

Each State in India faces a distinctive set of
challenges regarding the impact of warming, but
also offers its own set of opportunities for
reducing emissions depending on its natural
resources. For example, coastal States need to
take action to protect their shores from sea level
rise, districts that are drier need to prepare for
variable monsoon precipitation. Himalayan
regions have their own unique challenges, and
selected parts of peninsular India and offshore
areas offer great opportunities for harnessing
wind power. These various aspects need to be
considered for developing clear and sustainable

goals for the future.

Which one of the following statements best
reflects the most logical, rational and
pragmatic message conveyed by the author of
the passage ?

(a) The mitigation adaptation
strategies to address/tackle the climate
change is essentially the responsibility
of each State.

and

(b) India is too diverse to implement any
effective strategy or programme to

address/tackle the climate change.

(¢) It is basically the responsibility of the
Union Government to implement the
climate action plans and ensure net zero

emissions.

(d) India needs to formulate effective
climate change mitigation and
adaptation strategies at the State/region
level.

LVPK-T-PST

With reference to the passage, the following

assumptions have been made :

1. Green energy production can be linked
to/integrated with the climate change

mitigation and adaptation strategies.

II.  Effects of climate change are much more

severe in coastal and mountainous

regions.
Which of the above assumptions is/are valid ?
(a) Tonly
(b) IIonly
(¢c) BothIandII

(d) Neither I norII

Passage — 2
If the social inequality is the most acutely
felt social problem in India, insecurity, more than
poverty,

is the most acutely felt economic

problem. Besides those below the official poverty

" line, even those just over the poverty line are

subject to multiple economic insecurities of
various kinds (due to wealth and/or health risks,
market fluctuations, job-related uncertainties).
Many Government policies are actually intended

towards mitigating these insecurities.

(3-D)
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frfafea # @ S9-ar & Fm, 3@ ufese g 5.

S AT HEEU A= i Faad ®9 d Fffoifora

FATR 2

(a) WRA H Tafaes wEafeT &t 39 oa o
Fad a1 Oifee, foF T o @i
A AR HH  GROmREEY gl
G- €l e WHTISTeh T 2 |

(b) ¥R #, T & FEE FEEHAr FR
ST T A FHROT 2 |

(c) RIS 3R TmI rEHEaAr 3ot weheft &
s & fob & Wi o fore arfwisofa dee s
FAE |

(d) e, Tt ¥ oft 5 R, 9% ge anfim uwy |

?, e gt Aifeat g0 e Fus
o ST EfRe |

ST Tit=RR & W H, FrfaRad qEumomd a4
TR

L il & e 3 i o s |

& TR fefamed a9 i yafa gt 2 |

II. T & I3 & TRomHEEy 9 # g
THTAT 3 i & TRt ® |

P QRO § & - du 278 2

(a) FadAI

(b) FASAII

(¢) IHRIIIET

(d FAIIARTLI

(4-D)

Teh 319 I & g+t Hetehl ol i T1 @ TR © |
T 36 T H 60 B fohg SRR TS § 39 THFR
T T © foh FH-8- R @ o | fefafaa
T HH-81/H FF FE /3 ?

I. 9 9H I =AdH 9 IR HET TR |

II. 37 B ZHS! I, Nt Fi5 off S & 42

B, A6
et o 1T e T SR S EE I A
(a) WAl
(b) FEAII
(¢ I3RIII[
@ TAIIRIHI

Ife 7%24 =25 AW 12 * 16 = 20 ®, dT 16 * 63
g aueR® 9

(a) 170
(b) 66
() 65
(d) 64

FHed dct ! FIHGT § Jhg B o HROT LI T hiwd
10% 9 T$ | FWa-afg & T8t 9 i fima
¥ 90 yftr &fieX oft | =S =3t wfar A1® 2200 km Y
AT AT € 3R 3T FR 16 km T et A5
It ® | Al 97 v we e ' W S @
e ®, A1 36 G AT A foRa km Y St R

R ?

(a) 180 km
(b) 200 km
(¢) 220 km
(d) 240 km



3. Which one of the following statements best
reflects the critical message conveyed by the
passage ?

(a) India’s political executive should be
aware that poverty and social inequality
and the consequent sense of insecurity is
the main social problem.

(b) In India, poverty is the primary reason

- for social inequality and insecurity.

() Poverty and social inequality are so
intricately linked that they pose an
unmanageable crisis for India.

(d) Insecurity, more than poverty, is the
main economic issue that Government
policies must address.

4. With reference to the above passage, the
following assumptions have been made :

L People above the poverty line also are
prone to suffer from anxiety about
economic insecurity.

II.  Eradication of poverty can result in
peace and social equality in the country.

Which of the above assumptions is/are valid ?

(a) Ionly

(b) II only

(¢) BothIandII

(d) Neither I nor IT

LVPK-T-PST

(5-D)

A solid cube is painted yellow on all its faces.
The cube is then cut into 60 smaller but equal
pieces by making the minimum number of
cuts. Which of the following statements is/are
correct ? '

I The minimum number of cuts is 9.

II.  The number of smaller pieces which are
not painted on any face is 6.

Select the correct answer using the code given

below :
(a) Tonly
(b) II only

() BothIandII
(d) - Neither I nor IT

If 7 * 24 = 25 and 12 * 16 = 20, then what is
16 * 63 equal to ?

(@ 170
(b) 66
() 65
d 64

The petrol price shot up by 10% as a result of
the hike in crude oil prices. The price of petrol
before the hike was ¥ 90 per litre. A person
travels 2200 km every month and his car gives
a mileage of 16 km per litre. By how many km
should he reduce his travel if he wants to

maintain his expenditure at the previous

level ?

(a) 180 km
(b) 200 km
(¢) 220km
(d) 240 km



8. I 4-3i I T N W IFR 2 fF 39 3, 5,6,9

Y AW 3 W HA: 1, 3, 4, 7 V%S @aT § | N &l

SEAH A FATE ?

(a),

(b)
()
(Y]

1068
1072
1078

1082

9. fmafefaa et o fomm fifve

I

II.

g A<B>C<D>E>F=G=H;@B
HTEU SRR
IR P>Q=R=>S=T<U=V>W;d@S

EIVIFAR |

SRIh T o W B-AE R ?

(a)

(b)

(e

(d)

10.

Faa I

ad 11

1311 3T
FA IR

1x3xB5xTx9x...x999 % T0H § THE 37

FATR?

(a)
(b)
(©)
(d)

LVPK-T-PST

1

3

5

9

fferRae 4 (@) 9Li9n % Torg FEsr
79 RRu o 2 uftedel @1 ufeu 3K TR=Sal & A T
6 LTI % IR AT | 39 T190 & foTT 37193 I Faed

B

11.

Tf=aq] W TR g4 el |

ufese-1

qufrerareT gt 397 3 wdet o for iR i
vty & gwry ol € ¥ | foRm, TSt BT S
whit 3R 9T 3 e & forg afteeren ST T
fRiw, e 3 e, Ieft 7e T ag-ferm uRse
& 1 g, Tk T 3 FoT T o SuE e, 3
TR i goorehen Bl ST © | 3= e A
e ARl @ A SR A we A Rafa w
Tfsrer Sercarar & B =t | I Rrar-ofy o
d W e 2, B ¥ Riaw T s, 7 for @ foiaw
T ST, | TRTTT ShT GRITSSahIL STTareeh € |

et i & H-aT T o, 96 Thede i o
Fesfr o 1 wataw &g § wfafefoa ware 2
RT ¥ e oo feafammert § Tuemm
fRre 3 Garei ¥ Taty wEre T E |

A7 I 3= Reror HEIH WK & MR
T & =R |

Feor firerm ¥ HeTT (FAEEH) UM H €L
AR |

T T ToheeT ST R A1 FRIfshR

T IETF T |

(a)
(b)
(e

(d)

(6-D)



8. A 4-digit number N is such that when divided | Directions for the following 4 (four) items :

by 3, 5, 6, 9 leaves a remainder 1, 3, 4, 7|Read the following two passages and answer the

respectively. What is the smallest value of N 2 items that follow the passages. Your answers to these

items should be based on the passages only.

(a) 1068
Passage - 1
(b) 1072
In our country, regrettably, teaching and
(© 1078 _ learning for the examination have been our forte
(d 1082 ‘ but the new demands of society and the future of

work require critical and independent thinking,
learning through doing, asking questions from

9. Consider the following statements : multiple. disciplinary perspectives on the same

issue, using evidence for building arguments, and

L IfA<B>C<D>E>F > G =H; th
>h<P> en reflecting and articulation. Higher education

B is always greater than E. should not “either be a mere servant of the
II. P>Q=R=S=T<U=V>W,then government policy or a passive respondent to

S is always less than V. public mood.” Higher learning is all about how to
think rather than what to think. Teaching has to

Which of the statements given above is/are
be re-invented.

correct ?

(a) Ionly 11. Which one of the following statements best
reflects the central idea conveyed by the

(b) II only

passage ?

(¢ BothIandII (a) India does not have enough resources for

(d) Neither I norII promoting quality education in its

universities.

; (b)  The institutions of higher learning in
10. What is the unit digit in the multiplication of the country should not be under the

1x3x5x7x9x%...x999? control of the Government.

(a 1 (¢)  Classroom approach to higher education

® 3 should be done away with.

© 5 (d) Classroom needs to be reimagined and
teaching needs to be re-invented.

@ 9

LVPK -T-PST (7-D)
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12. Sk uftead o wt #, frfefad e s

TRE:

I 3o e gaa foskfia 8 aren fowsr g, @
TSt o ol &el B & ) A foeee o Wy
Uftheg B ol ST © |

[l SR 3 #, Ioo fren & "oy % g waiw
ffert s farfrrem == foma st |

S T & - e 2 9

(a) WAl

(b) ad 11

(¢c) I3II Hr

(d TAIIRT

feeg - 2

7% S afg % ufewT § S |,
T e 3 3uhT i Sed o iR ST © |
1IN QAT ST § | gueRt o1 R, T A ik
=1 EIE) ST L TEHAT AT, TE FHoh SIS peFope-TTeH
i o e uypel % WR H SE@r S @E | qen
TeY-SATEHE SRR 1 A= & e oy Sfen # 7%
e werarelt B & IR R | T et skl T
¥, 3= faets 7S FART H FaA 16% | & A9E
firet ur @ | T wpet #, SR opae 9 ved S e
31T 5w S et o ¥ e 2 e ST =,
7% afada ot 3T 9 B R Ot | e | SfRrd
LERGAS I

13.

14.

(8-D)

Frefafaa & & SF-87 T wA, W Uiese & AW

! Tty &9 § gfafsifed sare 2

(a) UHGA GHST H STHIS-SATHT TTel & ST
# g & T wH de Aifd hit doee
EATIHAT R |

(b) ScaTE SR TN & IR T U-3emd
W, FHS/AEY-STHN e 6 Hh EL
FASR 2 |

(c) THN e SMMER # UgL-ATETA FIEH T TIH
TTRU-SATHTI T i & T =11 |

@ Tt oft e afadaeiier oo & @mer Ieed
SR 3T ST STIER § |

Sufeh uftese & gt #, Frafaiea qeermond s

TR

I Yo o § wre fafmior St SR e
I el R ugfadl w wHISi Al
SEAdl g8 STATIRATT % FTAR S0E EI
Y H T 91T |

I TG U, I FY SCTRN kAT
IR F FHROT @rE qEET i St 7
T BT 38T T AL TFI B 2 |

SoRih OIS A & H-H R/ 2

(a) adl '

(b) ad Il

(¢) T3MRIIIMT

(d) TAIATARII



12. With reference to the above passage, the

following assumptions have been made :

I Higher education is a constantly
evolving subject that needs to align
towards new developments in all

spheres of society.

II.  In our country, sufficient funds are not
allocated for promoting  higher

education.
Which of the above assumptions is/are valid ?
(a) TIonly
(b) II only
(¢) BothIandII
(d) Neither I nor IT

Passage - 2

If there is inequality in the pattern of
population growth, there is greater inequality in
food production and utilization. As societies
become wealthier, their consumption of animal
products increases. This means that a greater
proportion of such basic foodstuff as grains and
legumes that could feed humans directly is
instead being converted into feed for poultry and
large farm animals. Yet this conversion of
plant-based food into animal food for humans is
far from efficient. Only 16% of the calories fed to
chickens are recovered by us when we eat them.
This conversion rate goes down to five to seven
per cent in large animals that are fed grain to

add fat and some protein before slaughter.

LVPK-T-PST

13.

14.

(9-D)

Which one of the following statements best

reflects the crux of the passage ?

(a) There is an urgent need for a public
policy to promote the consumption of

cereal-based foods in wealthier societies.

(b)  Animal-based food is far less efficient
than grain/plant-based food in terms of

production and utilization.

(c) Plant-based protein should replace the

animal-based protein in our daily diets.

(d) Inequality in food production and
consumption is inevitable in any fast

changing society.

With reference to the above passage, the

following assumptions have been made :

I The food manufacturing and processing
industries in every country should align
their objectives and processes in
accordance with the changing needs of

the societies.

II.  Wealthier societies tend to incur great
loss of calories of food materials due to
indirect utilization of their agricultural

produce.
Which of the above assumptions is/are valid ?
(a) Ionly
(b) I only
() BothIandII
(d) Neither I nor II



15. n & He9H WH FT T, T TER TR
7 x 343 x 385 x 1000 x 2401 x 77777,
35" § fnsr 2 2
(a) 3
(b) 4
( 5
@ 7

16. A 24,X, 12,18, 36,90 H, X FNR?
(a) 18
(b) 12
© 9
d 6

17. PaﬁtQ@mwméﬁﬁ%rﬂ‘ﬁ&OOa.m.
R Tk & foig & U-gE T foredi fewm & <ot
3T | P, 5 FEeRt Wi wier Y Sfed =Te & e @
3t Q, 3 @R W HeT ol Sfed =I1e § ST s |
5:20 a.m. 3 7:00 a.m. % sfter FRaT S TH-gW
T IR AT 2
(a) 12
(b) 13
() 14
d 15

LVPK -T-PST

18. ARXP=+Q=- R=x, S =+ g a G0

19.

20.

(10-D)

60_15_3_20_4 = 20 W iU FH & S k@
Goka Tfes Hifsre ;

(a) SPRQ
(b) QRPS L
(¢ QRSP
(d SPQR

1 2, 3 km/hr 3 4 km/hr Y 390 91 9 T
& R & T @ 2 safehal X 3R Y & 1 Feperdt @
3T STERT AR 8 TS S 9 Fehve | It e IR
TSI & | 2T 3 e e 2

(a) 15m
(b) 18 m
(¢ 20m
(d 24m

afe N2 = 12345678987654321 ®, @ E& N |
foram 3R 8 2

(a) 8
b)) 9
(0 10
(@ 11



15. What is the maximum value of n such that
7 X 343 x 385 x 1000 x 2401 x 77777 is
divisible by 35" ?

(a) 3

(b) 4

(e 5

d 7
16. What is X in the sequence
24,X, 12,18, 36, 90 ?

(a) 18

(b) 12

(o 9

d 6

17. P and Q walk along a circular track. They
start at 5:00 a.m. from the same point in
opposite directions. P walks at an average
speed of 5 rounds per hour and Q walks at an
average speed of 3 rounds per hour. How
many times will they cross each other between
5:20 a.m. and 7:00 a.m. ?

(a) 12
(b) 13
() 14
d 15
LVPK-T-PST

18.

19.

20.

(11-D)

IfP=+ Q=—- R =x, S =+, then insert the
proper notations between the successive

numbers in the equation 60_15_3 20 4 =20 :

(a) SPRQ
(b) QRPS
(©) QRSP
(@ SPQR

A tram overtakes 2 persons X and Y walking
at an average speed of 3 km/hr and 4 km/hr in
the same direction and completely passes
them in 8 seconds and 9 seconds respeétively.

What is the length of the tram ?

(a) 15m
(b) 18 m
(0 20m
(d 24m

If N2 = 12345678987654321, then how many

digits does the number N have ?

(@ 8
Md 9
(e) 10

d 11



fraferRas 4 (@r) T4ivn & forg g

2 2y 7 3t gl #! UfeT 3R IR=sel & 14 37
T TN % IR ST | 579 4197 & foTg 37193 I Faaed
39 gR=eel T R g1 =T |

21.

LVPK-T-PST

ufees - 1

Foreft urfefeurfeshY oot w1, Sta-fafarerr & weor
W % fIT, STREoT T | 3Eeh! Ao STe,
Trer € 3o aricRerfeeht d o feft strsfiferend e
et | et afRefeh @ w1 SWE dEd
STTiifarERTatY o forw &Y, = aforfsereh <red o fore &1,
TR fly § | aftifsas deT % uRomeE g
el e & At o it stsfifeserel w sfasga
YT TS % AR, 16, e s hY FHet. 7R
gEn-SeaEl SReRdT S e wiE g |
femasfier a o, Sl aiRefeh o w @
forfean wewqt ?, ofR anforfers e & Tt T A
Ay gfg e Y derrea 2, 3 e foedt Rerfert
TE AR fasme g |

freffaa & @ 91 T U, 3@ U= &
TR G oF%h AT HEwqul TasT I FaraH &9 H
yfafeifera sar g 2

(@) S HT AN A AR F g
urfcferfeeht ot feft i €, ar Sta-fafaeran
3 TTE0T o &, <h TR FefdlT STk e © |
AT T SATTOTTSTh SIEH, ST 0 SIS TR ST
3 forg Fonft @3 ot @t o @ AR
foeg R |

FSHereRT T dawor SfT urieRefashl @
forr=frertoT weh wrer B & o T gEL I i hid
&, oo e fodiy o7k SEqe BT 2 |
ritRefaehl = o1 anforfsee ded Of §9 @
g T faam s =t |

(b)

(c)

(d)

22.

Stk ufteae o g H, frmfared qeemond sAm
LERE
I e oft 3 o, U I A S afg @
o, wfifufeeh @& w sk 87 &
FTETIhdT T8 § |

T U S 30T W, SAATH AT ATt
T F A AT GO e =R, iR
rfeReerfereht <5t 3 fRrferRtoT i TRt ST &k |
IR QRS # & hi-H 9 2/ 2

(a) FHaAIL

(b) HIA II

(¢) ISII M

(d TAIIARTARI

ufene - 2

FelteReuli it o gereTd ¢ e o g @, 6
e 1 T R T 3, s, R s
IeqTE BT 8, S Ju ot Rt SR shiehed |
HrE ¥ Ferawq AT Sat dsit I et 7 | RS
1 &R Tavad- "qrl-3TE § ;1S gfase 39 S
TR AT 2, S i i Y Y ST I €
1fre BRIt ST @ | SHeRT Ted T WIS § U el
1 shiwdt 7 o7t firee, S 2010 % a9 H, Qi
I TR FBE g, T 90% Teelt & 71 | 2y
TRY W, FUE T T G ¥, rfoaensti &
Srafeed 2 & o i e fire s 8, fed 3=
st Rreer F1 AT fee R, AR e
s & @l o 38M 1 TaER fierar § | foeis |
o ST aTer, Stfiren oAy STuT R SATaT
M ISR |

II.

(12-D)



Directions for the following 4 (four) items :
Read the following two passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

Maintaining an ecosystem just to conserve
biodiversity will affect its commercial potential
as well as the livelihoods dependent on the
ecosystem. There is also a conflict between using
an ecosystem only for livelihoods, for commercial
exploitation, or strictly for conservation.
Deforestation caused due to commercial
' exploitation will lead to indirect harm like floods,
siltation problems and microclimatic instability,
apart from adversely affecting livelihoods
dependent on forests. These conflicts are
particularly acute in developing countries where
the dependence of people on the ecosystem is
significant, and commercial exploitation has the

potential to boost national income.

21. Which one of the following statements best
reflects the critical message conveyed by the
author of the passage ?

(a) Conservation of biodiversity is not an
issue to be worried about when some
people depend on ecosystems for their
livelihoods.

(b) Commercial exploitation of forests goes
against the fundamental rights of the
people dependent on forests for food and
shelter.

(¢) Sustenance of livelihood and

degradation of ecosystem while being.

together exacerbate one another, leading
to conflicts and imbalance.

(d) Commercial exploitation of ecosystems
should be completely stopped.

22. With reference to above passage, the following

assumptions have been made :

I No country needs to depend on

ecosystems to boost national income.

II.  Resource-rich countries need to share
their resources with those of scant
resources so as to prevent the

degradation of ecosystems.
- Which of the above assumptions is/are valid ?
(a) TIonly
(b) II only
(¢) BothIandII

(d) Neither I nor IT

Passage - 2

The history of renewable energy suggests
there is a steep learning curve, meaning that, as
more is produced, costs fall rapidly because of
economies of scale and learning by doing. The
firms’ green innovation is path-dependent : the
more a firm does, the more it is likely to do in the
future. The strongest evidence for this is the
collapse in the price of solar energy, which
became about 90% cheaper during the 2010s,
repeatedly beating forecasts. Moving early and
gradually gives economies more time to adjust,
allowing them to reap the benefits of
path-dependent green investment without much
disruption. A late, more chaotic transition is

costlier.

LVPK -T-PST (13-D)
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23. Which one of the following statements best
reflects the central idea of the passage ?

(a) Economies of scale is essential for
transition to green growth.

(b) Modern technological progress is
intensely linked to = path-dependent
innovations.

(¢) Countries with large economies are in a
better position to adopt green
technologies.

(d) Timing plays a crucial role in the case of
green technology development.

24. With reference to the above passage, the
following assumptions have been made :

I Path-dependent green investments will
eventually most likely benefit growth as
well as public finances in a country like
India.

II. If other green technologies follow the
same pattern as that of solar energy,
there will most likely be an easy green
transition.

Which of the above assumptions is/are valid ?

(a) Tonly

(b) II only

(¢) BothIandII

(d). Neither I nor II

LVPK-T-PST
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26.

217.

(15-D)

A natural number N is such that it can be
expressed as N = p + q + r, where p, q and r
are distinct factors of N. How many numbers

below 50 have this property ?

(a) 6
b 7
() 8
@ 9

Three prime numbers p, q and r, each less
than 20, are such that p — q = q — r. How many

distinct possible values can we get for

(p+q+1)?

(a) 4

(b) 5

() 6

(d) More than 6

How many possible values of (p + q + r) are

there satisfying = + L + 1 =1, where p, q and
p q r

r are natural numbers (not necessarily

distinct) ?

(a) None

(b) One

(¢) Three

(d) More than three
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What comes at X and Y respectively in the

following sequence ?

January, January, December, October, X,

March, October, Y, September
(a) July, May |
(b)  July, April
(¢) June, May
(d) June, April

Team X scored a total of N runs in 20 overs.

Team Y tied the score in 10% less overs. Had
team Y’s average run rate (runs per over) been
50% higher, the scores would have been tied in

12 overs. How many runs were scored by team
X?

(a) 172
(b) 144
() 216

(d) Cannot be determined

The price (p) of a commodity is first increased
by k%; then decreased by k%; again increased
by k%; and again decreased by k%. If the new
price is g, then what is the relation between p

and q ?

(@ p10*-x%%=qx10°
®) p(10*-k2?=qx 10*
(© p(10*-k? =qx10*

@ p10*-—k%=qx 108

Directions for the following 4 (four) items :

Read the following two passages and answer the

items that follow the passages. Your answers to these

items should be based on the passages only.
Passage - 1

One of the dismal realities of the
agricultural sector in independent India has been
that it never experienced a high-growth phase,
unlike the non-agricultural economy. The highest
decadal growth (compound annual growth rate or
CAGR) for agriculture has been just 3:-5% in the
1980s. Also, after experiencing a spurt in decadal
growth during the 1980s, agricultural growth
suffered relative stagnation thereafter. This is in
sharp contrast to non-agricultural growth, which

consistently increased from the 1980s to 2000s.

31. Which one of the following statements best

reflects the corollary to the above passage ?

(@) The benefit of economic reforms
percolates down more slowly to the
agriculture sector than in other sectors

of the economy.

(b)  For India, the green revolution was not

as useful as it was expected to be.

(¢) India lagged behind other countries in
adapting mechanized and modern

farming.

(d) Rural-to-urban migration resulted in the

stagnant agriculture sector.

(17-D)
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32. With reference to the passage, the following

assumptions have been made :

The growing divergence between the fortunes
of the agricultural
economy in India
reduced/contained by :

and non-agricultural

could have been

I adapting large-scale cultivation of
commercial crops and viable corporate

farming.

II. providing free insurance for all crops

and heavily subsidizing seeds,
fertilizers, electricity ¥ and  farm
machinery at par with developed
countries.

Which of the above assumptions is/are valid ?

(a) Tonly

(b) IIonly

(¢) BothIandII
(d) - Neither I nor II

Passage - 2

In our country, handlooms are equated with
a culture that ensures a continuity of tradition.
This idea has become part of the public
policy-framing and provides a legitimate basis for
the State to support the sector. But the notion of
tradition as a single, linear entity is being
strongly contested today. The narratives
dominant in defining culture/tradition in a
particular way are seen to have emerged as the
identities and histories of large sections. The
stifled

identities are fighting for their rightful place in

discounted and, at times, forcibly
history. Against this backdrop, when we promote
handloom as a traditional industry, it is not
surprising that large sections of our population

choose to ignore it.

LVPK-T-PST

33.

34.

(19-D)

Which one of the following statements best
reflects the most logical and rational message

conveyed by the author of the passage ?
(a)

We need to free the handloom industry
from the limited narrative linked to

preserving cultural heritage.

the
the

preservation of some of our glorious art

(b) Continued State support to

handloom  industry ensures

forms and old traditions.

(¢) Household units of the handloom sector
should be modernized and made an

economically viable organized industry.

(d) Handloom products need to be converted
to machine-made designer products so

as to make them more popular.

With reference to the above passage, the

following assumptions have been made :

I There is no need for the State to be
involved in any manner in the handloom

sector.

II. Handloom products are no longer
appealing and attractive in the rapidly

changing modern world.

Which of the above assumptions is/are valid ?

(a) Tonly

(b) I only

(¢) BothIandlII
(d) Neither I nor II
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Consider the first 100 natural numbers. How
many of them are not divisible by any one of

2,3,5,7and 9 ?
(a) 20
(b) 21
() 22

(d) 23

If4<x<8and 2 <y<7, then what is the ratio
of maximum value of (x + y) to minimum value

of (x—y)?

(d) None of the above

Let both p and k be prime numbers such that
(p2 + k) is also a prime number less than 30.

What is the number of possible values of k ?
(a) 4
(b) 5
© 6

d 7

38.

39.

40.

(21-D)

There are n sets of numbers each having only
three positive integers with LCM equal to
1001 and HCF equal to 1. What is the value of

n?

(a) 6
b 7
() 8

(d) More than 8

Let PQR be a 3-digit number, PPT be a 3-digit
number and PS be a 2-digit number, where P,
Q, R, S, T are distinct non-zero digits. Further,
PQR -PS=PPT .If Q =3 and T < 6, then
what is the number of possible values of

R,S)?

(a) 2
b) 3
(¢ 4

(d) More than 4

Consider the sequence

AB_CC_A_BCCC_BBC_C that follows a
certain pattern. Which one of the following
completes the sequence ?

(a» B,C,B,C,A

(b) AC,B,C,A

(0 B,C,B,AC

(d C,B,B,AC
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Directions for the following 4 (four) items :

Read the following two passages and answer the
items that follow the passages. Your answer to these

items shquld be based on the passages only.
Passage - 1

It is hard to predict how changes in the
climate and the atmosphere’s chemistry will
affect the prevalence and virulence of
agricultural diseases. But there is a risk that
‘such changes will make some plant infections
more common in all climatic zones, perhaps
catastrophically so. Part of the problem is that

~ centuries of selective breeding have refined the
genomes of most high-value crops. They are
spectacular at growing in today’s conditions but
genetic variations that are not immediately
useful to them have been bred out. This is good
for yields but bad for coping with changes. A
minor disease or even an unknown one could
suddenly rampage through a genetically honed

crop.

41. Which one of the following statements best
reflects the central idea conveyed by the
passage ?

(a) Global climate change adversely affects

the productivity of crops.

(b) Our total dependence on genetically
honed crops entails possible food

insecurity.

(¢) Our food security should not depend on

agricultural productivity alone.

(d) Genetically honed crops should be
replaced with their wild varieties in our

present cultivation practices.

42. With reference to the above passage, the

following assumptions have been made :

I. Global climate change can result in the
migration of several plant diseases to

new areas.

II.  Scientific understanding of the wild
relatives of our present crops would

enable us to strengthen food security.
Which of the above assumptions is/are valid ?
(a) Tonly
(b) II only
(¢) BothIandII

(d) Neither _I nor II

Passage — 2

“A good statesman, like any other sensible
human being, learns more from his opponents
than from his fervent supporters. For his
supporters will push him to disaster unless his
opponents show him where the dangers are. So if
he is wise he will often pray to be delivered from
his friends, because they will ruin him. But,
though it hurts, he ought also to pray never to be
left without opponents; for they keep him on the
path of reason and good sense. The national
unity of free people depends upon a sufficiently
even balance of political power to make it
impracticable for the administration to be
arbitrary and for opposition to be revolutionary

and irreconcilable.”

LVPK -T-PST (23-D)
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43.

(b) Democracy

Which one of the following statements best
reflects the critical message conveyed by the

author of the passage ?

(a) Without  opposition  parties, the
administration in a democracy gets to

become more responsible.

needs to have
revolutionaries in opposition to keep the

government alert.

(¢) Rulers in a democracy need the support

of opposition for their political survival.

(d) In a democracy, the opposition is
indispensable for the balance of political

power and good governance.

44. With reference to the above passage, the
following assumptions have been made :

I In a democracy, a strong opposition is
required only if the Head of Government
is indifferent.

II. The more aggressive the opposition, the
better is the governance in a democracy.

Which of the above assumptions is/are valid ? .

(a) TIonly

(b) 1IIonly

(¢c) BothIandII

(d) Neither I nor II

LVPK-T-PST
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P is the brother of Q and R. S is R’s mother. T
is P’s father. How many of the following

statements are definitely true ?
1. S and T are a couple.

II. QisTs son.

III. Tis Q’s father.

IV. Sis P’s mother.

V. Ris Ts daughter.

VI. PisS’s son.

Select the correct answer using the code given

below :

(a) Only two
b) Only three
(¢)  Only four
(d) Only five

If NO is coded as 210, NOT is coded as 4200
and NOTE is coded as 21000, then how is
NOTES coded ?

(a) 399000
(b) 420000
(c) 440000
(d 630000

If FRANCE is 654321
GERMANY is coded as 9158437 , then how is
YEMEN coded ?

coded as and

(a) 54321
(b) 81913 -
() 71913
(d) 71813
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49.

50.
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| (a)

5-37ah! hl T&AT PQRST (@t 37 T €) 36 yer
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(a) 3
b) 4
(¢ 5

d 6

HIFA 1,3,6,11,18,X,42 TXFTR?
26

(b) 27
() 29

(d 30
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ot =fth P it T R |

(b)

(d)



48. The 5-digit number PQRST (all distinct digits)
. is such that T # 0. P is thrice T. S is greater

than Q by 4, while Q is greater than R by 3.
How many such 5-digit numbers are possible ?
(a) 3
(b) 4
() 5
d 6

49. X can complete one-third of a certain work in
6 days, Y can complete one-third of the
same work in 8 days and Z can complete
three-fourth of the same work in 12 days. All
of them work together for n days and then X
and Z quit and Y alone ﬁnishes the remaining
work in 8; days. What is n equal to ?
(a) 3
(b) 4
(© 5
d 6

50. What is X in the sequence
1,3,6,11,18,X,427?
(a) 26
(b) 27
() 29
(d 30

LVPK-T-PST

51.

Directions for the following 2 (fwo) items :
Read the following two passages and answer the
items that follow the passages. Your answers to these

items should be based on the pdssages only.

Passage - 1

A single number for inflation is an

aggregate across different commodities and
services — the price rise differs for different
items of consumption. So, the single number is
arrived at by assigning weights to different
commodities and services. For WPI, the weights
in production are used; for CPI, the consumption
basket is used. But people are not homogeneous.
The consumption basket is vastly different for
the poor, the middle classes, and the rich. Hence,
the CPI is different for each of these classes and
a composite

index requires averaging the

baskets.

Which one of the following statements best
reflects the most logical, rational and crucial

message conveyed by the passage ?

(a) We must use WPI
measuring price rise and CPI should be

exclusively in

done away with.

(b) The present calculation of inflation rate
does not correctly measure price rise of
individual item/commodity.

(¢) Inflation data under-presents services in
the consumption basket.

(d) Knowledge of inflation rate is not really
of any use to anybody in the country.

(27-D)
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T 8 | 39 T 3R 3 oA | o Fifvw st ad
Trerea =1 fafea Fifsg |

34

qaﬁgramaﬁ%rﬁ,aawﬁqzﬁwa%éi;anp,aﬁ
QF s Ead g3 Ma e dS off | R EW P A9
EicKIER

I ;. T\ P Al 10 o & 4 M e

FF 11 2W QA Aw § et 4 M o |
ST W IR WAl % @ H, fefaRad §
U | T T 8 2

(a) 9 ¥F H W T FM H Y Rl TF
el IUANT L T S W B, o T,
Y T ket STINT T AT ST ST Tl | |

(b) TH IH H I, T HET H H forelt o1 oft
3Tl IYANT KT T ST EehaT 2 |

(¢) 38 T T W, IFT YT T Th 1Y ITFNT
o fe S et @, foreg AT 7 @ forelt @
U T Tohed STINT HT &Y fe=T ST el |

(d) 3T T A SW, I FT 9 9 forelt st S5
L ot Tt fe=m <t wemar |



Passage - 2

Trust stands commonly defined

as  being  vulnerable to others.
Entrepreneurship implies trust in others
and willingness to expose oneself to
betrayal. Trust in expert systems is the
essence of globalizing behaviour; trust itself
emerges as a super-commodity in the social
market and defines the characteristics of
goods and services in a global market.
Trusting conduct also means holding others
in good esteem, and an optimism that they

are, or will be, competent in -certain

respects.

52. Which one of the following statements best
reflects the crux of the passage ?
(a) Trustworthiness cannot be expected in
~ entrepreneurship.
(b) Trustworthy people are the most
vulnerable people.
(¢) No economic activity is possible without
being exposed to betrayal.
(d) Trust is important though it entails
risk.
LVPK-T-PST

(29-D)

53. A question is given followed by two

Statements I and II. Consider the Question
and the Statements and mark the correct

option.
Question :

In a football match, team P playing against Q
was behind by 3 goals with 10 minutes

remaining. Does team P win the match ?

Statement I: Team P scored 4 goals in the

last 10 minutes.

Statement I : Team @Q scored a total of

4 goals in the match.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other statement

alone.

(b)  The Question can be answered by using

either Statement alone.

(¢)  The Question can be answered by using
both the Statements together, but
cannot be answered using. either

Statement alone.

(d) The Question cannot be answered even

using any of the Statements.
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54. A question is

55.
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given followed by two
Statements I and II. Consider the Question
and the Statements and mark the correct
option.

Question :

Is (p + q)2 — 4 pq, where p, q are natural
numbers, positive ?

StatementI: p<aq.
Statement IT: p > q.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot

be answered using the other statement | .

alone.

~ (b) The Question can be answered by using

either Statement alone.

(¢)  The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question can be answered even.

without using any of the Statements.

In a T20 cricket match, three players X, Y and
Z scored a total of 37 rumns. The ratio of
number of runs scored by X to the number of
runs scored by Y is equal to ratio of number of
runs scored by Y to number of runs scored by
Z.

Value-I = Runs scored by X

Value-II = Runs scored by Y
Value-III = Runs scored by Z

Which one of the following is correct ?
(a) Value-I < Value-II < Value-III
(b)  Value-III < Value-II < Value-I
()  Value-I < Value-III < Value-II

(d) Cannot be
insufficient data

determined due to

56.

57.

(31-D)

Let p + q = 10, where p, q are integers.

Value-I = Maximum value of p x q when

P, q are positive integers.

Value-II = Maximum value of pxq when

p=-6,q=-4.
Which one of the following is correct ?
(a) Value-I < Value-II
(b)  Value-II < Value-I
(¢) Value-I= Vaiue-II

(d) Cannot be determined due to insufficient
data

Consider a set of 11 numbers :

Value-I= Minimum value of the average of
the numbers of the set when they
are consecutive integers > — 5.

Value-II = Minimum value of the product

of the numbers of the set when
they are consecutive non-negative

integers.
Which one of the following is correct ?
(a) Value-I < Value-II
(b)  Value-II < Value-I
(¢)  Value-I = Value-II |

(d) Cannot be determined due to insufficient
data



58.

59.

60.

LVPK-T-PST

T HETTS T p, q N r W MAT kB | p T A
I 3R 8, ST g SRNEqa A FA | r FTAH FAT

29

(a) k
b)) k-1

e k+1
@ K2

I AT x, 0 3 1 % sfiwr i i arfaes @@
2| Fefofag s A Q@ w-aA v 272 2

I x> x.
et fog g e T T AR EE ST

(a) FAAI

(b) FaAII

(0 I3MWII3FT
(d TAIARARII

Tl @t e} et & i SfaX 10 8 | F A
et ¥ o, 5 & e et g % an i
T HET ST HHAT © ?

(a) UEl e TF HEATE |

(b) et et & e § |

o) e & oife wed A w1

(d) T S Hear T |

FferRaa 4 (@w) T2iyn & ferg fg

7= faw 71T 3t ufesel #! ufgy ik wR=ssl & e 31
1 I % IR AT | 37 T o 17T 37199 I Shayed
39 IR=a5] W TR g FRT |

61.

ufese-1

3T 3T I AR L T8 &, Toh o T it ot
% faet-3r e T 3 ST, STt Se et
N U H I F he AT ST BT | Th IOl
Sy ATRE e §, B sf-d-ee,
uituy Ui, S§ fF wfw o ufem &
SR UREH, % HIEW | T A T
fora ST weRar @ | 3R 3@ off 7 Srenm BN, fh
gfd-oer Tt o Hream & ofteds A o St S
1 SeTTR AT TEr IR i foeqa &9 9
ST ST STk |

f=fafan & @ #9-91 & w9, 9 =T &

S5 o A gt w0 § wfdfsifod e @ 2

(a) IS e T ST shelet S et §
AR AT & WA € |

(b) TV & =TT TTER 378 SedTe I o

. ARSI EHRATR | | :

(©) - TNt s ST A
T el § |

@ S fafmior Seim =gl denfif o
T S €, 3% SueH (afsEdl) JeM fRu
S =T |

(32-D)



58. The average of three numbers p, q and r is k. | Pirections for the following 4 (four) items :
p is as much more than the average as q is|Read the following two passages and answer the

less than the average. What is the value of r ? |items that follow the passages. Your answers to these

items should be based on the passages only.

(a k

b) k-1 Passage - 1

© k+1 - Over the next 30 years, many countries are
d k/2 promising to move to net-zero carbon, implying

that household emissions will have to be cut to

close to nothing. A leading climate scientist
59. Let x be a real number between 0 and 1.

reckons that, at best, half the reduction might be
Which of the following statements is/are

achieved through demand-side measures, such as

correct ? )
behavioural changes by individuals and
2 3
L X" >Xx" households. And even that would require
II %> & companies and governments to provide more

incentives to change through supply-side

Select the correct answer using the code given investments to make low-carbon options cheaper

below : and more widely available.
(a) Tonly ,

61. Which one of the following statements best
(b) 1II only

reflects the central idea conveyed by the
(¢) BothIandII ?
passage ?

(d)  Neither Inor IT (a) Moving to net-zero carbon is possible

only by the reduction in household
60. The difference between any two natural emissions.

numbers is 10. What can be said about the (b) Low-carbon behaviour in people can be

natural numbers which are divisible by 5 and brought about by incentivising them.
lie between these two numbers ? '

(c)  Cheaper goods and services can be made
(a)  There is only one such number. . .
available to people by using low-carbon

(b)  There are only two such numbers. technologies.

(¢) There can be more than one such . . .
(d) Manufacturing industries that use
number. .
low-carbon technologies should be

(d  No such number exists. provided with subsidies.

LVPK-T-PST (33-D)
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62. 63. Which one of the following statements best

the

With reference to the above passage, the

following assumptions have been made : reflects most logical, rational and

pragmatic message conveyed by the passage ?

LVPK-T-PST

I Supply-side investments in companies
can result in low-carbon behaviour in (8) Green economy is not possible without
people. reusing critical minerals.
II.  People are not capable of adapting
low-earbon l;ehaviour without the . (b)  Every sector of economy should adapt
involvementl of Covermment &md the reuse of material resources
‘ immediately.

Companies.
Which of the above assumptions is/are valid ?
(a)
(b)

I only
IT only
(¢) BothIandII

(d) Neither I nor IT

Passage - 2

In only 50 years, the world’s consumption
of raw materials has nearly quadrupled, to
more than 100 billion tons. Less than 9% of
this is reused. Batteries of old vehicles contain
materials such as lithium, cobalt, manganese

and nickel that are pricey and can be hard to

obtain. Supply chains are long and
complicated. = Buyers’ risks are being
aggravated by their suppliers’ poor

environmental and labour standards. Reusing
materials makes sense. Once batteries reach
the ends of their lives, they should go back to
a factory - where their ingredients can be

recovered and put into new batteries.

64.

(35-D)

(c)  Circular economy can be beneficial for

sustainable growth.

Circular use of material resources is the

(d)
only option for some industries for their

survival.

With reference to the above passage, the

following assumptions have been made :

I Automobile factories are examples of the

circular economy.

II.  Economic growth is compatible with

circular use of mineral resources.

Which of the above assumptions is/are valid ?

(a) TIonly

(b) II only

(¢) BothIandII

(d) Neither I nor II



65. 20 7@ 1 Age (X) TR H F 70% WIT A
14 forfe & ¥ WeRaT 8 | 10 Tl T THT T (V)
3T & 3/89 W ! 6 fie T R WehaT © | 16 AT T
Tk U GO (Z) 39 TH kA AT H
20 fire # ETeft X whaT § | A TeT X & AT
Tt sie & S TS Y % et ST T G €, AR
= (Z) % @t T G €, AT 36 Sehl o6 50% T
T T | TR T T 2
(a) 8TFE
() 10fe
(0 12fFe
@ 16fre |

66. IS n TAYOl HEAT R, A (17 + 27) N 4 T WA W
e o et 1w R 7
(a) O
by 1
(0 2
@ 3

67. UM TN P = QQQ FI§ 3-37h il G&T 8 | P 3R
481 1 UEH GHTIES (HCF) 18 ?
(a) 1
(b) 13
() 37

@ 481

68. T 123456789101112 . .. H 489dT 3ich TR 2
@ 0 |
(b) 3

. () 6

@ 9

LVPK -T-PST

69.

70.

(36-D)
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65.

A set (X) of 20 pipes can fill 70% of a tank in
14 minutes. Another set (Y) of 10 pipes fills
3/8t™ of the tank in 6 minutes. A third set (Z)
of 16 pipes can empty half of the tank in
20 minutes. If half of the pipes of set X are
closed and only half of the pipes of set Y are
open, and all pipes of the set (Z) are open, then
how long will it take to fill 50% of the tank ?

(a) 8 minutes
(b) 10 minutes
() 12 minutes

(d) 16 minutes

66. If n is a natural number, then what is the
number of distinct remainders of (1® + 2D)
when divided by 4 ?

(a 0
(b) 1
(© 2
d 3

67. Let P =QQQ be a 3-digit number. What is the
HCF of P and 481 ?

(a) 1
(b) 13
(c) 37
(d 481

68. What is the 489th digit in the number
123456789101112... ?

(a) O
(b) 3
(o0 6
d 9

LVPK -T-PST

69.

70.

(37-D)

A mobile phone has been stolen. There are
3 suspects P, Q and R. They were questioned
knowing that only one of them is guilty. Their

responses are as follows :

P: 1did not steal. Q stole it.

Q: R did not steal. I did not steal.

R: Idid not steal. I do not know who did it.

Who stole the mobile phone ?

(a) P
(b) Q
e R

(d) Cannot be concluded

Three teams P, Q, R participated in a
tournament in which the teams play with one
another exactly once. A win fetches a team -
2 points and a draw 1 point. A team gets no
point for a loss. Each team scored exactly one
goal in the tournament. The team P got
3 points, Q got 2 points and R got 1 point.
Which of the following statements is/are

correct ?

I The result of the match between P and Q

is a draw with the score 0 — 0.

II.  The number of goals scored by R against
Qis 1. '

Which of the statements given above is/are

correct ?
(a) TIonly
(b) II only

(¢ BothIandII
(d) Neither I nor IT
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& S o ST fohaT SIT Wkl 2 |

frefaftas @ @ S9-ar ™ F2F, 3H TRese &
TG I Sk ST Hewe Ul §al ki GeH §9 &
wfafsiferd sar s 2

(a) it dSfiame foredt Toar i st dafs &
T ST SAeherat o g +ff wewaqui 2 |

it Jeftare foreft styfes T g0 o
e SRl ol STH ot o e ¢ |
forrfira dsfiame <t sifient % s 1S T &
T e 19 T I i gifEa e
TG HhdT |

& forg weem fefe

(b)

()

(d)

72.

73.

7 ufee o v H, Frfafe qeemond s g
TEE:
1. Fmfi dSfare gftes o 6 afe w2 i
- USTIR o Frh STaR J&H T § |

e ¥ R di o ¥ A S e R
&, STt e-aTE TV (Ral-S18T 3%92)
3 ey femTiira dstane SR arTi-ar 8l & |
7k qEETeTSt & F-el e R/ 2

(a) I

(b) ad 11

(¢ I3MWII HT

(@ FAIRARI

I1.

i 2
“Qfez® TOT HT Aawia (Hedeh) AUETHT
yitrel =ik S G9eT &9 ¥ yihamel TS & s
THC H &I H Rogaarg 1

freafafea # @ wF-81 T FoF ST Titess h
wat ST i gfdfsfad war g ?

I8 T Y, TSI & TR HqT WRI I
sfdesperar & o 10 dohed I FaER |
yafdd G il sEHdaT W ear e |

I AU TS & FHA % I~ R Ik
Sfchcdl o forehre o Tl §e © |

7 afert o0 ek 6 feeifr & T o o
? R SR wdume wEE A OWE 9N
% T YGH HAT ¢ |

T TrTient st i yepr it fmTd it @
AR |

(a)

(b)

(c)

(d)
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Directions for the following 3 (three) items :

Read the following two passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

There has been no democracy that has
grown economically without corporate capitalism.
It helps in modernizing the economy and
enabling the transition from rural to urban, and
agriculture to industry and services, which are
inevitable with growth. It generates jobs — and
there is no other way to fix a country’s
unemployment challenge without a further
impetus to private business. Big compahies can
operate on a large scale and become competitive
both domestically and externally. A vibrant
corporate capitalist base also leads to additional
revenues for the State — which in turn, can be
used for greater welfare for the marginalized and
creating a more level playing field in terms of
opportunities.

71. Which one of the following statements best
reflects the critical message conveyed by the
author of the passage ?

(a) Corporate capitalism is important for
economic growth of a State and also for
democracy.

(b)  Corporate capitalism is imperative for a
modern State to achieve its political
objectives.

(¢ No State can ensure its economic
survival for long without the role of

corporate capitalism.

(d) Corporate capitalism and democracy
have mutual dependence for their

continued existence.

LVPK-T-PST

73.

72. With reference to the above passage, the

following assumptions have been made :

the

growth of labour force and provides more

I Corporate capitalism promotes

employment opportunities.

II.  Poor

population are benefited by corporate

and marginalized sections of

capitalism due to trickle-down effect.
Which of the above assumptions is/are valid ?
(a) Tonly
(b) I only
(¢) BothIandII
(d) Neither I nor II

Passage - 2

“A network of voluntary associations stands
as a ‘buffer’ between the relatively powerless

individual and the potentially powerful State.”

Which one of the following statements reflects
the best explanation of the above passage ?

(a) It emphasizes the inability of the State
to enforce its will in practice against the

opposition of certain groups within it.

(b) It is a cooperative organization for the
of the
development of the personality of its

promotion well-being and

members.

(¢) It takes individuals out of a state of
isolation and gives them a chance to

participate in the common endeavour.

(d) It permits citizens to have a variety of

loyalties and allegiance.

(39-D)



74. Frafafaa weat w foem il
I Tk eAq g 8, R 50% 991 a4 W,
3G UFEUET i HE uiEfdd © wehdl
gl
II. U eAqu & B, et 150% el o W,
3G UFEUE! hT BT INEfdd T Hehdl
H
ST e W HA-HRA e B8 2
(a) Al
(b) HIAII
(¢) ISRII At
(@ TANIARALI
75. fafs= wmit AB, AC, CD, DE, BF, EG 3R FG &
T3 foreft s § 7 ®M A, B, C, D,E, F 3R G ¥ |
A,BU6km SUTHR| A, C¥ 10 km IREHH R |
D,E¥5km@H2IC,DHF6kmIWHARIF,B
Y9km REATRIF,G U 12km ST & | 8
Safth 39 AT & 9 D ¥ F T I5dT § | 39
= 3 forft g =t 2
(@) 20km
(b) 25km
(¢) 31km
(d 37km
76. 3fe forelt foreiw e (F1S) o 64 T 343 % w9 H foran
T R 3R 216 T 729 F &9 A for@n W R, @ 3W
e # 512 ! forer w9 # forar s 2
(a) 1000
(b) 1331
(c) 1728
d 2197
LVPK -T-PST
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78.

(40-D)

934+944+95496 4 .. 49100 g WAT H W
ATHA FTE ?

@ 0

d 1
e 2
d 3

T 99 T T R, foree W1g &Y e 1R 11 fag

T E | 38 T 3 3T HYA | fomm Aifse ot @

forerca =1 fafga i |

Ty :

¥t 1.3 1 o G B, R

4THES S ?

FAL: FTH Y PHES 22 |

FFIL: T4 THPHES 37 |

I g 3R el & wed #, frefafed § @

FH-AT T TR 2 2

(a) 39 UF 1 I, 31 HAE A ¥ foreft w1
TRt IURANT T foam ST W B, foReg g
T T 3okt SYFNT HT &l TaT SIT Tkl |

(b) TH I T I, SHT oA # & Forelt T ot
Johet IR T T ST Tkt © |

(c) 9 I T I, QAT HeAT 1 Th Grel JTART

X feam s v ©, foeg QT A @ foreft

S T STehel STFNT L TaT TG3T SIT Eohall |

T T BT I, $ BT H 9 TRl 1 3w

fopu fomm oft e ST EeRaT 21

(d)



74. Consider the following statements :

1. There exists a natural number which
when increased by 50% can have its
number of factors unchanged.

II. There exists a natural number which
when increased by 150% can have its
number of factors unchanged.

- Which of the statements given above is/are
correct ? '

(a) TIonly

(b) II only

(¢ BothIandII

(d) Neither I nor IT

75. There are 7 places A, B,C,D, E, Fand Gin a
city connected by various roads AB, AC, CD,

DE, BF, EG and FG. A is 6 km south of B. A is

10 km west of C. D is 5 km east of E. C is 6 km

north of D. F is 9 km west of B. F is 12 km

north of G. A person travels from D to F

through these roads. What is the distance

covered by the person ?

(a) 20km

(b) 25km

(¢ 31km

(d 37km

76. In a certain code if 64 is written as 343 and

216 is written as 729, then how is 512 written

in that code ?

(a) 1000

(b) 1331

(e) 1728

d) 2197
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78.

(41-D)

What is the remainder when

93 4+94 4954964 . 49l00

is divided by 6 ?
(a 0
(b) 1
(e 2
d 3

A question is given folloWed by two
Statements I and II. Consider the Question
and the Statements and mark the correct

option.
Question :

What is the smallest 1-digit number having

exactly 4 distinct factors ?

Statement I: 2 is one of the factors.

Statement II : 3 is one of the factors.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other statement

alone.

(b)  The Question can be answered by using

either Statement alone.

(¢)  The Question can be answered by using
both the Statements but

cannot be either

together,
answered using

Statement alone.

(d) The Question can be answered even

without using any of the Statements.
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79. TE uy feur man }, fSrweh 91g & e I SR 11 iy

0§ | 3G IF 3R I weEl 1 e Hifsw stk ot
foreneg =1 farfega Fifsw |

34 :

= g, P, Q, R, S =T IR o € | 3l
PP x PQ=RRSS, SR P <33 Q <4, Q
forgeh U R 2

FI: R=1.

FHUIL : S=2.

SR W IR e & wed d, Frefafed @
YHA-ATTH TR R ?

(a) 39 9F F I, 37 & 7 9 fmeft w1
IRt T R faar S weRd €, foReg g
Y T Fohed IUINT oL Tal fET ST HehelT |

(b) 9 IF HT I, aFT HUAr 9 & forelt 1 off
STl ITANT T T ST HFAT © |

(c) 39 IH 1 I, SHT HAT o1 Teh AT ITFT
R T S wean &, foeeg ST A @ forell T
Y T ITohed STINT KT TeT e ST Tt |

(d) 39 IH H I, 37 HAAT W 9 Rt 1 39
foru fomm oft fer ST ERaT R |

(42-D)

80. U Wy foum mwan 8, e &ite a1 e I 3R 11 few

T E | 39 9 R ST el W e fifve o wwt
forepe =1 fafea #ifs |

7 :

Q, P ¥ fore yohR Taiftra 8 2

FHI: PH AT, RIATS T

FUIL : R, QHT 9 R |

wﬁﬁqﬂaﬁtm%mﬁﬁ,ﬁmﬁrﬁ%ﬁ
YH-ATTH TR B ?

(a) - T 9 F1 3, I oAl A ° forelt w
T I W T S Wt B, foheq W
S T 3Tehel SUTNT L el ST SIT FeheT |

(b) T UH T I, ST HUAT 0 § foRet wr off
TRl SUANT T AT ST HhaT & |

(0) TG T 1 I, ST HAAT T T HT YA
= f s weRan 8, foeeg a1 | & forelt @
Y T ITehet STINT KT Te1 feam ST Tt |

(d) 39 9 H I, 37 BT F o Frelt 1 SwET
T ot T T < wewa |



79.
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A question is given followed by two
Statements I and II. Consider the Question
and the Statements and mark the correct

option.

Question :

Let P, Q, R, S be distinct non-zero digits. If

PP x PQ = RRSS, where P < 3 and Q < 4,

‘then what is Q equal to ?

StatementI: R=1.

Statement IT: S =2.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other statement

alone.

(b)  The Question can be answered by using

either Statement alone.

(¢)  The Question can be answered by using
both the Statements together, but

cannot be answered wusing either

Statement alone.

(d) The Question can be answered even

without using any of the Statements.

80. A question is

(43-D)

given followed by two
Statements I and II. Consider the Question
and the Statements and mark the correct

option.

Question :

How is Q related to P ?

Statement I: P has two. sisters, R and S.
Statement IT: R’s father is the brother of Q.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other statement

alone.

(b) The Question can be answered by using

either Statement alone.

(¢)  The Question can be answered by using

both the Statements together, but

cannot be answered using either

Statement alone.

(d) The Question cannot be answered even

using any of the Statements.
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